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Code No.
[ . W Te TSR 1 S
Roll No. W S e T |

Candidates must write the Code on
the title page of the answer-book.

o PUASIE H W 1o 3T UHA-IT H G5 YIS 8 & AT 2 I8 Ao b & |

o UTA-UF T I BT H 3R KT T g TR il 1 SH-RAH & JE&-IL W 1@ |

o TS F G [ T UA-TTH 22 AT |

o HUAT YUY T IR feTa T I XA W UEet, U9 BT HHih Hayd fored |

o U RA-TA W UgH & o0 15 e 1 9 KA T § | SRA-0F o foeor qaed 7 10.15 &9
foFam ST 1 10.15 &1 & 10.30 S T B hael US-TF H UG 3R T4 7@ &k IR o
ITR-GETH T T I el fora |

e Please check that this question paper contains 8 printed pages and 2 pages of maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

WA (HFTTH)
GEOGRAPHY (Theory)
Freiie T - 3 v HfETH F 70

Time allowed : 3 hours Maximum Marks : 70

[T g
(i) meA B GET22 8|
(i) @ T AT E |
(iii) T T¥ & G 39 3 FIT TTE |
(iv) 797 G 1 G 7 d% 3T Tg-3RIT J97 b 375 & & | Jedah 79 1 7740 J15T G
31fére 81 &1 FET |
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(v) TGI8 G 13 T Tg-STRIT FvT & | §eddh 79T 3 3k F & | §H G U o SR
e & | g 79T 6 3K 80 T 100 FIKT T 374 T8l 817 AT |

(vi) T G 14 T 20 T 31 STIT J9T & | TF 97 F 5 3F & | 76 T qAF 59T HT
3150 =51 T 37 TeT &7 AT |

(vii) T97 GEI1 21 T 22 TAEMT T 79 5-5 3% & & 57 B 59 T8 qEfE 7 it
I 1 GEET, Rl o 3T AT #e & T &

(viii) TG 3R YR & [T T IGL-THfAT 31 3797 IT-GRAFT & & 7 37593 e HoT |
(ix) FE-HHEMET T & forw @i e @1dert & 74T &1 argafd 3 s &

General Instructions :
(i)  There are 22 questions in all.
(ii)  All questions are compulsory.
(iii) Marks for each question are indicated against it.

(iv) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(v)  Question numbers 8-13 are short answer questions carrying 3 marks each. Out of

which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(vi)  Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vii) Question numbers 21-22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(viii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

1. TOR % S 0§ forT ST afeensii & ufdeet 1 § ? T HROT @y | 1
“In some countries of the world the sex ratio is unfavourable to women.” Give one
reason.

2. 3 Ud WY g ST I foehrd o Hewaqul Uet € 1”39 U & gt § e SIf | 1

“Leading a long and healthy life is an important aspect of human development.” Give
an argument to support the statement.

3. J&d Ushithd LA e i Rl sheel |ietl & @id o Hehe i Blal € ? Ueh SRl feAfiEy | 1

“Why is the large integrated steel industry located close to the source of raw material ?
Give one reason.

4.  HYSI-IA i Hew b YR i i St & 9 1

How is the importance of a seaport judged ?
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STFTOAT 2011 % IR, 9RA % Tad HH S alet I99 & AW feafaw |

Name the state of India having lowest density of population as per 2011 census.

T TR W H ARANI T |

Define the term ‘hinterland’.

PR T YRT & HF I8 T 6l 9 [aray |

Name the state of India with largest area.

‘Ha-id i fafae Teeashdet & fau TR U Sl 9qeE % ®0 § g &1 9
TR AT FMET 1”37 TeAl i SRAT HINIT S AT STARTE T FAET & T H T8e

T W &l T © |

“The urban waste should be properly treated as a resource for various needs of
mankind.” Explain the values that can help in changing the urban waste into resources.

I T T 3TE 1 3T ST 3T 3Hh A ST 7T gt & 3o foaifEu -

(9.1)  TITHIOT ST WAET i Gg= DT ST IHHT AW foAf@y |
(9.2) &H 39 TR & UHIT St Hiaey o5 &5 5 T € 2
(9.3) TE UBR P T UTET i T o9 fafaw |

Study the diagram given below and answer the questions that follow :

Rural Settlement Pattern
(9.1)  Identify and name the pattern of rural settlement.

(9.2) In which areas do we find such rural settlement patterns ?
9.3)

3

Give one characteristic feature of this type of settlement pattern.

3x1=3
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e ; TAfcRad e e giteantaa adienteat o o veT Ten 9 F ™A WE
(9.1) “TFT T 6T Bl TR BT |

(9.2) TER % T & § & Iaeh urHoT st videy ur § 9

(9.3)  VehIOT TTHOT TG i U HewaquT faeidr fafan |

Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q.No. 9.
(9.1)  Define the term ‘human settlement’.

(9.2) In which areas of the world do we find linear rural settlement pattern ?
(9.3) Give one important characteristic of ‘Despersed Rural Settlements’.

10.  “9RA # MY TR § § FE T TR S 8T | foshiad g & 17 39 AT Hl qHI0
T | 3

“Many of the modern towns in India were developed during the period of British
domination.” Substantiate the statement.

11, e FHHE &7 H 1Gar % o0 ot 98 o § e M 7Y & Hewdl T HT | 3x1=3
Explain the importance of Indira Gandhi Canal for providing water for irrigation in the
Canal Command area.

12. 9 U U 3RQ 1 323 HiT T 38F A9 T 70 y94i & IR fAfau

L
(12.1) 39 3G H T T 2T T i Teo DT X ST AW @y |
(12.2) 39 @4 &3 % 919 felfay St 30 T97 & fod Sigel 3R FAT-UeR &t a1 § |

(12.3) =8 T3 & foTq 5767 311 o G 1 Sooid HIT | 3x1=3
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Study the following diagram and answer the questions that follow :

To Kolkata
250 Km
—»

Panposh '_-j?g"‘“
i -

b

River Subarnarekha

W Manganese '*‘
¥ Steel Plant
@ Limestone

she .
“.'l’ #4 Sulaipat

fr Iron Ore

| Coal

e Railway

(12.1) Identify and name the steel plant shown in this diagram.

(12.2) Name the mining fields which supply coal and limestone to this plant.
(12.3) Mention the source of water for this plant.

Ate : FAfNET T et gieattaa afenfomt o o o Tem 12 & ®&H W E
(12.1) TREvE T § Fed ST Tehidhd T0aTd At & AT feffa |

(12.2) oiE-38Td ST § U foh=el J1 hed |1eT o A1 foifay |

(12.3) il 3R LT SENT Bl SR ST & TT H FT STAT ST & 2

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 12.

(12.1) Name the two integrated steel plants located in the state of Jharkhand.
(12.2) Name any two raw materials used in the iron and steel industry.

(12.3) Why is iron and steel industry known as basic industry ?

13.  “TFMT 3R T 3O | A1 SATCerdt | S §U § o 3¢ Uh-gay F ST T R ST ahell
€ 1 S BT FEIIOT HiteT | 3

“The nature and human beings are so intricately intertwined that they can’t be
separated.” Substantiate the statement.
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14, ‘T & 1 Y & 2 AN U fHel O G SAHYUI &l fogeiuuy shifsw | 1+4=5

What is ‘tourism’ ? Analyse any four tourist attractions in the world.

15. = uiquiess Tl ore fagaeT &1 Sooi@ i gu, Tia $iY ok S8 $HY § 3R W
HIfTT | 5x1=5

Differentiate between Mixed farming and Dairy farming; stating any five points of
distinction.

16.  “@T 3T M 1 UE Heoqul AsA A A e TeY €, S get AR afvedt fave, 4
T SR versT §RT 1 & Al & 1 TF AT % G H 9 ST Fel o Ak Hewel W
FHITT | 2% +2%=5

“The Suez and the Panama canals are two vital man-made navigation canals which serve
as gateways of commerce for both the eastern and western worlds.” In the light of this
statement explain the economic significance of these two canals.

17. 9Rd H qEU 3R fodi o Jarg % $HRUT STNT-STeN F €, W BT | Yag & JAeRonT
RO T Seei T | 2+3=5

Explain why the causes of male and female migration are different in India. Find out the
environmental consequences of migration.

18. WA H Heh! o [oe)o] GHET T4 Fal € ? IS0l Higd sa1ea iy | 5x1=5

Why is the distribution of roads not uniform in India ? Explain with examples.

19.  3Myfe HT Wit qor f=E & TR 3 YR § $HT SR dgH § Hew@qul i g
TR TS & 2 T T | 2% +2% =5

Explain how the ‘modern agricultural technology’ and ‘expansion of irrigation’ played a
crucial role in enhancing agricultural output in India.

20. ‘SHifhRHIT Tsh T T MU & 2 SHihehid HehAU [GgT’ bl dIF STt & 9o
HTT | 2+3=5

What is ‘demographic cycle’ ? Describe three stages of ‘demographic transition
theory’.
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21. HEW % U MU ST W@-AEEE |5 9 Wiiierss |80 A, B, C, D 3T E % gRT g9T 1Y
£ | 37 0N B A TS TSR B WEEAT ¥ TG SR 3k TEl AW 3% ke @it
TE T@nett W et 5x1=5
(A) TR T Ged T STH-I drel 397
(B) ToTamdl URTEROT AT &1
(C) WS FH-oxH
(D) SR gelE-oH
(E) = e

Five Geographical features shown on the given political outline map of the World as A,
B, C, D and E. Identify these features with the help of the information given below and

write their correct names on the lines marked near them :

(A) The country with lowest density of population in Asia.
(B) An area of nomadic herding.

(C) A major sea port.

(D) An Internatinal airport

(E) A megacity

e : AT 79 Shaet giteaTtad qheteat & T 7o 9r 21 & & W&
(21.1) TR § Gad Y SHEE 96t 337 61 1Y fdfEy |
(21.2) 3TRIT § FTETE US[ERYT 3 Hewaqul &1 1 91 [\ |
(21.3) W TR % fohdll U U@ Tl-Tae 1 A1 fefay |
(21.4) STeT % Tohdl Ueh STRISET -9 T 19 feAf@m |
(21.5) IO % fdt T 7 el 1 W fafa |

Note : The following questions are for the Visually impaired candidates only in lieu of
Q. No. 21:

(21.1) Name the country with smallest population in Asia.
(21.2) Name an important area of normadic herding in Africa.
(21.3) Name any major seaport in North America.

(21.4) Name any one international airport of Brazil.

(21.5) Name any one mega city of Europe.
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22.

YRA % T TT TsHifdeh @T-AHtes § Hefatad @ fefa suge et 9 Kare ok 376
am fota 5x1 =5

(1) AT SH-8-c a1t T (2011) |

(i) T HH ATHT SHE et T |

(iii) IR - ElE 3T G & |

(iv) FHACH T | A I HREHT |

(v) WY U TA-AUSA H A |

Locate and label the following on the given poltical outline map of India with
appropriate symbols.

(1)  The state having the highest density of population (2011).

(i1) The state with smallest rural population.

(i11)) Mayurbhanj — an iron ore mining area.

(iv) An oil refinery in Karnataka state.

(v) The headquarter of South Central Railway Zone.

At : TAfcRad To ot giteantaa afientedt o o e T 22 F _H WE
(22.1) &EHA I gite ¥ WRT o G T T B 9T € 2

(22.2) Y FHY AHUT STHEEAT dTet T 1 A fafaw |

(22.3) TR ciie-37aeh & o T | fed & 9

(22.4) HCTE OcT I HREMT T 57 H feora € 2

(22.5) WY Yot {G1-AUSH & GEA &1 A f@fau |

Note : The following questions are for the Visually impaired candidates only in lieu
of Q.No. 22 :

(22.1) Which is the largest state of India in respect of area ?
(22.2) Name the state having smallest rural population.

(22.3) In which state is Mayurbhanj iron ore mining area located ?
(22.4) In which state is Mangaluru oil refinery located ?

(22.5) Name the headquarter of South Central Railway Zone.
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I 9. 21 % forT e
Map for Q. No. 21
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